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1.For Bullet Graphs we need at least ____________ measures 
A. 3 
B. 1 
C. 2 
D. 4 
Answer: C 
Explanation: 
A bullet graph is a variation of a bar graph developed to replace dashboard gauges and meters. A bullet 
graph is useful for comparing the performance of a primary measure to one or more other measures. 
Therefore, we need at least 2 measures for creating bullet graphs. 
Reference: https://help.tableau.com/current/pro/desktop/en-us/qs_bullet_graphs.htm 
 
2.True or False: LEFT JOIN returns all rows from the left table, with the matching rows in the right table 
A. True 
B. False 
Answer: A 
Explanation: 
Explanation This is true, indeed! The LEFT JOIN keyword returns all records from the left table (table1), 
and the matched records from the right table (table2). The result is NULL from the right side, if there is no 
match. 

 
Reference: https://www.w3schools.com/sql/sql_join_left.asp 
 
3.Using the cwurData table, create a cross-tab showing the number of Publications per Country broken 
down by Institution, and filtered by Country to only show United Kingdown (UK). 
For the University of Manchester, what percent of the total publications were contributed in 2014? 
A. 28.415% 
B. 23.497% 
C. 25.683% 
D. 22.404% 
Answer: D 
Explanation: 
Phew! Tricky one for sure. This question tests multiple concepts and will help you revise them. We'll be 
using filters, as well as quick table calculations (percent of total) for this one. 
1) Firstly, let's drag Country and Institution to the Rows shelf, and year (discrete) to the Columns shelf. 
Then, drag Publications to the Text Icon in the Marks Shelf. 
The following is our view: 
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4.Is it possible to deploy a URL action on a dashboard object to open a Web Page within a dashboard 
rather than opening the system’s web browser? 
A. YES, we can do this with the help of a plugin 
B. NO, this is not currently possible in Tableau 
C. YES, we can do this with the help of a Web-Page object 
D. YES, we can do this with the help of Tableau Public 
Answer: C 
Explanation: 
Explanation To interactively display information from the web INSIDE a dashboard, you can use a URL 
action with a web page object. 
For example, you might have a dashboard that shows profits by country. In addition to showing the profit 
data in your dashboard, you also want to display supplemental information about the countries from a 
web site. 
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Reference: https://help.tableau.com/current/pro/desktop/en-us/actions_dashboards.htm 
 
5.True or False: 
The Highlighting action can be disabled for the entire workbook. 
A. True 
B. False 
Answer: A 
Explanation: 
Yes, it is possible to disable highlighting for the entire workbook. 



The safer, easier way to help you pass any IT exams. 

7 / 7 

 
For more information: https://help.tableau.com/current/pro/desktop/engb/actions_highlight.htm 
 
 


